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Writing Equations and Inequalties
for Word Problems

**Always define a variable for the unknown

**At this point we are writing equations and inequalties in
one variable

**If there is more than one unknown, define the second,
third...unknown in terms of the first unknown

**Use the numbers in the problem. Do not do any
arithmetic until after your equation is written.

EX # 2 Four friends share the cost of renting a game system. Each
person also rents one game for $7.25. If each person pays $12,
write an equation that can be used to find the cost of renting the
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EX # 1 Mason's computer downloads files at a rate of 200 kilobytes
per second. The computer has already downloaded the first 480
kilobytes of a 3150-kilobyte file. Write an equation that cen be used
to find the number of seconds it will take to download the rest of

the file. et = # 0OF seconds o download festoflile

ki\ob\j‘\ﬁs lcicbtes sl :_TD'M Le
Wi

| +
o\ wi\paded Nne o ::L‘

n\o
Hgo + 200n 2]

\

420+3C0N =3 150

~4g0 ‘%fo
00N =260
S

<33F3??@3

T =

EX # 3 One side of a triangle is three times the second side. The
third side is one less than the second side. If the perimeter of the
triangle is 479 mm, write an equation that can be used to find the
lengths of the three sides. :
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<X # 4 Sara scored 158 points this season in basketball. This is
two more than three times the number she scored last season. Write
an equation to find the number of points she scored last season.
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EX#5 The length of a rectangle is one more than five times its
width. If its perimeter is 248 cm, write an equation that can be
used to find the dimensions of the rectangle
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EX # 6 Kim is going bowling and has $25 to spend. Each game costs
$3. Shoes cost $2.50 to rent and she wants a snack that costs
$4.50. Write and solve an inequality to find the maximum number of
games she can bowl,
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EX# 7 The perimeter of a rectangle is at most 80 cm. The length
of the rectangle is two more than three times its width. Write and
solve an inequality to find the maximum dimensions of the rectangle.
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